
Name: LösungsschlüsselMultiplikation mit Hilfsgitter

Mathe www.CommonCoreSheets.de
1-8 88 75 63 50 38 25 13 0

Antworten

1. 1.845.154

2. 5.412

3. 1.261.063

4. 2.709.700

5. 4.392

6. 3.591.462

7. 3.913

8. 4.312

Löse jede Aufgabe.

1) 2 1 9 4

× 8 4 1

2 1 9 4

8 7 7 6 0

+ 1 7 5 5 2 0 0

1 8 4 5 1 5 4

2) 6 6

× 8 2

1 3 2

+ 5 2 8 0

5 4 1 2

3) 6 3 3 7

× 1 9 9

5 7 0 3 3

5 7 0 3 3 0

+ 6 3 3 7 0 0

1 2 6 1 0 6 3

4) 7 9 0 0
× 3 4 3

2 3 7 0 0

3 1 6 0 0 0

+ 2 3 7 0 0 0 0

2 7 0 9 7 0 0

5) 7 2

× 6 1

7 2

+ 4 3 2 0

4 3 9 2

6) 4 8 9 3

× 7 3 4

1 9 5 7 2

1 4 6 7 9 0

+ 3 4 2 5 1 0 0

3 5 9 1 4 6 2

7) 9 1

× 4 3

2 7 3

+ 3 6 4 0

3 9 1 3

8) 5 6

× 7 7

3 9 2

+ 3 9 2 0

4 3 1 2
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